
Freddy bought:
- 2 kilograms of tomatoes
- Half a kilogram of carrots
- 3 kilograms of potatoes
- 1 pumpkin

a)  How much did Freddy spend?
b)  How much change did Freddy 
get from £50?

Sally bought 2 kilograms of one 
vegetable and half a kilogram of 
another. If she spent £19.95, what 
did she buy?

Fill in the gaps:
3 kg of _________ = £7.50
½ kg of _________ = £3.45
2 ___________  = £7.60

On ‘Sale Day Sunday’ any 
purchases over £25 receive a 
discount of £3.50.
How much will the this order cost 
on ‘ Sale Day Sunday’?
- 2 kg of carrots
- 1 kg of cucumbers
- 2 cauli�owers
- 1 pumpkin

Tomatoes: £6.90 / kg
Corn: £8.50 / kg
Carrots: £2.50 / kg
Cucumbers: £5.90 / kg
Potatoes: £4.20 / kg
Cauli�ower: £3.80 each
Pumpkin: £10.00 each
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